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Box—1, 63AC is coded as FC19:
F, C are 6th and 3rd alphabets.

A, C are the 1st and 3rd alphabets.
1x1=1, 3x3=9

Box—2, 91EG is coded as 1A2549:
I, A are 9th and 1stalphabets.

E, G are 5th and 7t alphabets.
5x5=25, 7x7=49

By this logic,

Box—3, 85DM will be coded as HE16169:
H, E are 8th and 5th alphabets.

D, M are 4th and 13th alphabets.
4x4=16, 13x13=169
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If Balu is 3rd then, he lied.

Similarly, if Dinesh is 2nd then, he lied too.

Then Chiru could say he is the 1st (which might be true)
So, Balu, Dinesh and Chiru occupy 3, 2 and 1.

Hence, Arya had to be 4t in the race
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Correct answer: Either a novel or a storybook

A book with 500 pages has more than 400 pages, so it could be a novel.

A book with 500 pages has less than 600 pages, so it could be a storybook.
Thus, it is either a novel or a storybook.
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The rule for capital letters in ASCII is simple, just add 64 to the position in the alphabet to get its code
(likeA-1, B-2, C-3, D—4, so on)

So Cis 67 (64+3)

Ais 65 (64+1)

T is 84 (64+20)

Therefore, the code for CAT is 67-65—-84.
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All three triangles, two gray and one orange, have the same vertical height.
So if the bases can be shown to be the same, the areas will be the same as well.
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From the figure, we can see that

AE=FD and EF=BC

So, the bases of 2 Grey triangles (AE+BC) Base of Orange triangle (EF+FD).
So the areas are equal.
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Let the side of the outer square =2 units.

N
X/

N

Area of grey region = Area of the big square - Area of the yellow circle
=22—m(1)2=4—n1=~=0.858

Area of yellow region = Area of the circle - Area of the pink square
=n(1)2—(2)2—=1.142

Since, 0.858 < 1.142.

which implies, area of the grey region < area of the yellow region.

So the Yellow region has a larger area.
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Add all the LHS and divide by 2
2 stars + 2 circles + 2 hexagon =8+ 10+ 16 = 34
1 star + 1 circle + 1 hexagon =342 = 17
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Radius of the circle(r) =DE=DC+CE=7+7=14 cm.

Since, B is also on the same circle DB=r=DE=14 cm
Length of the diagonals of a rectangle is always equal. Hence, AC=DB=14 cm
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Pink area =4/9~0.44
Grey area =12/25~0.48
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4 out of the 16 triangles are not shaded.
If we combine all these 4 unshaded triangles, it forms 1/4 of the whole rectangle.
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If x is the breadth of a rectangle.

Then, 3x is the length of the rectangle.

X+3X+X=5X

Given that the perimeter of the big rectangle
2(3x+5x)=240

x=15

Given that area of all small rectangles are identical,
Area of small rectangle =(x)(3x)=15x3%15=675

o
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Let the milk glass be M and water glass be W.

Initially M (100ml milk), and W(100 ml water) .

After the first mix, M (75 ml milk), and W(100 ml water and 25 ml milk)

In the2 nd mix, 25 ml of the mixture contains 20 ml water and 5 ml milk(4:1 ratio).
After the 2 nd mix, M( 80 ml milk and 20 ml water) and WW( 80ml water and 20 ml milk)
Both contain the same contents of each other.

SRy
If 3,6=27
5,8=39
1,7=48
then,
3,4=7
RGN,

(3+6)x(6-3)=27
(5+8)x(8-5)=39
(1+7)x(7—1)=48
(3+4)x(4-3)=7
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The shaded area in the top square is equal to the unshaded area in the right bottom square.
Hence, this can be considered as one fully shaded square.

Area of one fully shaded square =1x1=1 sq.cm=1x1=1 sg.cm
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The area reduced is 11/8th of the area of the square.
Given the reduced area =1 unit.

Then, the total area of the square is 8 units.
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The large arc rotates 90° anti-clockwise at each stage, the middle arc rotates 90° clockwise at
each stage, and the inner arc rotates 90° anti-clockwise at each stage.
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The triangle can be broken into 99 equal triangles of smaller size.
Then the area of each smaller triangle =(90+9)=10 sg.units

Area of hexagon =60 sg.units
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The net increase in volume =20+15-5=30 litres
Time after which it will overflow =600/30=20 minutes

8t |
M
3,9 = 80
30, & = &R
b, R =0
oY
Y, S =?

N RCICE N

(5*9)+(H/9)=80
(Y0*&)+(50/&)=¢
(b*R)+(b/)=0
(\WL*)+(\Y/5)=5
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If
3,6=27
5,8=39
1,7=48
then,
3,4="7
Gads 7
(3+6)x(6-3)=27
(5+8)%(8—5)=39
(1+7)%(7-1)=48
(3+4)x(4-3)=7
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then,
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If
4293817 is related to 9247183
9872346 is related to 78964327
then,

8629471 is to
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¢9| Find the missing month.

January, February, April, July, November, April, October, ?

July
June
May
April

CRE May

Jump an extra month each time, i.e. January February (March) April (May June) July (August September October)
November (December January February March) April (May June July August September) October.
Hence the answer is (November December January February March April) May.
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Seven bags each containing 13 pineapples.
91 is the product of two prime numbers 7 and 13.
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14+12=26

7+19=26

3+23=26

By this logic,

1+25=26

Hence, the solution is, 25A.
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If A and B are the two whole numbers without zeros
Such that 10000=AxB=2x2x2x2x5x5x5x5
A and B have no zeros, hence each of them cannot have both 2 and 5.
Hence, A=2x2x2x2=16
B=5x5x5x5=625
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2,10, 7,4, 30, 28, 8, 90, 112, ?
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First, fourth, seventh terms are related.
Second, fifth, eight terms are related.
Third, sixth, Ninth terms are related.

Then, the tenth term will be from the sequence of First, fourth, seventh =2,4,8
Next term =16

(¢q-4

2 |1 4| 6 8

7 |11 | 15

13| A |17 | 19

3 8 18| | Find the value of A+B+C=

Cads 8¢

2,4,6,8- Next term increases by 2.

7,11,15, C - Next term increases by 4. So, C=15+4=17
13, A ,17,19 - Next term increases by 2. So, A=13+2=15
3,8, B ,18 - Next term increases by 5. So, B=8+5=13
Then, A+B+C=17+15+13=45
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The sum of the numbers in the same place as two pentagons is equal to the number at the same place in
the third pentagon.
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Veds 11
1+5=6 and 1x5=5
2+3=5 and 2x3=6

142+3+5=11
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(9+8)—(5+7)=5
(15+11)—(2+6)=18
Hence,
(17+6)—(5+9)=9
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15+3.5=5
3+4.5=7.5
3.5+7.5=11
2+6.5=8.5
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17+15=32 and 32+4=8

21+23=44 and 44+4=11
Hence, 13+31=44 and 44+4=11
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1t column 2,
2nd column 1,
3¢ column O,
4th column O,

A+B+C+D= 1
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5+6=11

6+13=19

5+4=9

4+13=17

Hence the solution is 17
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